BT =hH)LT—% / Technical Datall

#B{ThILY / Recommended torque : 0.3N=m ~ 0.6N*m

T / Product Number

AUH - -

ek Wik DA

H dimension W dimension D dimension

INURJLERR / Handle type

NURILEALT (N / K)

Handle type (P or H)

n

n

®
S

E B24E / Normal type

ﬁiﬁ / Key—lock type

Bt

Color Type

¥ERINZ / Components

No. & ¥ / Part name = / Pcs #ME / Material 8- REALIE / ColorFinish
: a—F—Javy 4 TILEF 1 Fv X ADC12 DIVN— TSy % (REENE)
Corner block Diecast aluminium ADC12 Silver , Black-Painted (Unfinished inside)
) IR 4 FILSHHEH A6063S-T5 DILIN— « TILRA RS T E%E
Frame Extruded aluminium A6063S-T5 Silver = Anodized with clear coating
3 FBAA/ 3 — : 7 JLEHR A1100P DILIN— - FILIA+
Open—closing panel Aluminium A1100P Silver = Anodized
. ThiN— ] 7 ILSHR A1100P DILIN— - FILIA+
Bottom cover Aluminium A1100P Silver * Anodized
5 FENAVRIVRE / BE 1set R A Fr X DILIN— - FBEE
Flat handle (Normal / Key lock) Diecast zinc Silver * Painted
6 Evo 1set IS v X DIN— - BEE
Hinge Diecast zinc Silver = Painted
7 H{FTE R (M3 x 8) 16 E5S =LAy
Screw (Flat head M3 - 8) Steel Nickel plated
8 HFER (M3 x 5) 4 £ =T ILAYE
Screw (Trapezoid head M3 — 5) Steel Nickel plated

£ {4k / Color Type
§25 / Code | O—7+—7J0Ow% / Corner block {BI#x / Frame 13— / Top cover | BAREH/3— / Open—closing panel
SS < )LsN— / Silver < )LsS— / Silver < )LsS— / Silver < )LsS— / Silver
S B 75979 / Black < JLsS— / Silver < JLIN— / Silver 2 JLIN— / Silver

6
4/ Title AN —
TAKACHI| #RARMINFERIE BRI 7LSas bO— LRy R O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Open-closing aluminium control box
7 2%/ Approved 1% X /Checked #[X]/Created FIF /Product number RE/Scale
iR z AUH133-36-25000100 —

{ER B /Date 2024/09/26

1/ 6

AREOEEEIIHISHINTFERITEIZIRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A-A(1:4)

352

E view

D view A view

250405 (—R 45 / External)

F view

360+0.5 (5 —R45 2 / External)

110.5

C view

B view

.

7,

N
<
N
[ )
133205 (r—RA4V 2 / External)
mn4/Title
TAKACHI| H#HASHANTFERIE FERX 7/ Iavba—ILiRy IR @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Open-closing aluminium control box
7&K R/ Approved #2X/Checked #[X/Created FIE /Product number RIE/Scale
1:4
iR £ @ A AUH133-36-25000 sy
YERL B /Date 2024/04/30 2 /6

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A 15']*& / A Frame 310

LT
&
<
R %
5 2-M3FH 7R
2-M3 Countersunk
M / Front side ¥ RxtmEE [EHk / Same on the other side.

B {84k / B Frame

- X2

M / Front side

125.2

22.5

3.2

3.3

3.3

3.2

ZE@ / Back side

ZEMH / Back side

a4/ Title
TAKACHI| BXESH4DhFERIE B4R () G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7&K R/ Approved 1&[X/Checked #[X/Created FIE /Product number RE/Scale
1:3
iR : B R e
H133 — W360 1ERK B /Date 2024/04/16 3 /6

AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C 1&“*& / C Frame 200

Ly
&
<
e 9
5 5
2-M3FHSI%

2-M3 Countersunk
ZRME / Front side

¥ X+ REHk / Same on the other side.

D {8l#% / D Frame

g2 X2

M / Front side

125.2

22.5

3.2

3.3

33

3.2

ZEM / Back side

ZEMH / Back side

a4/ Title
TAKACHI| BXESH4hFERIE B4R {) G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
23/ Approved t& X/ Checked HI[X]/Created FIFE /Product number RE/Scale
1:3
iR £ ] A R—/Page
H133 — D250 {ER B /Date 2024/04/16 4 /6

AEEOEFEIIRARIHINDTFERIEXICHIELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7
<

: o
S &

M / Front side

349.4

330

H#~Fi% / Max dim. 313+0.5

4-24.5

E#~ti% / Max dim. 203+0.5

2
/o o)
REL—HMY
Surface protective film side
N o
ZEm / Back side
4/ Title A —
. A .
TAKACHI| #RXL#4hFERTE Thii— O L
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
= - — - RFE/Scale
£%/Approved t&X/Checked #I[X]/Created FIE /Product number
1:3.5
iR E3 S e
W360 — D250 {Emk B /Date 2024/03/29 5 / 6
AREDEFEIIBRRSHINDFER T E(CIRBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




348

330.6 174

[To)

24

(

2 = ]
[I'p)
~ )
26.25 . 30 o
o
N
£
el
3 o S0 x
Q 2 2 B
~N
H
+
=
i

oof §

PN

2!

. I8 . [Te]

2-R14 17.5 B#~ti% / Max dim. 311+05 R\

Z M@ / Front side

fREES — A

Surface protective film side

—
~
-
@0
J

M / Back side

a4/ Title
TAKACHI| #AKHINFEHTX BIRH/ \— @} G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Open-closing panel
7K %/ Approved %X /Checked & /Created B F /Product number RE/Scale
1:3.5
EP*E £ E]j: R—/Page
W360 — D250 YER B /Date 2024/03/29 6 / 6

AREDECEIIH AR 2HFEHITEICRELET, / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO

., LTD. All Rights Reserved.




	AUH133-36-25□□□.pdf
	
	Sheets and Views
	Model



	AUHP36-25.pdf



